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Using quotient rule, we have
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Using quotient rule, we have get,
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By using quotient rule, we have,
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Using quotient rule, we hava,v \Qﬁ“

dx | cotx - x"

d [e"-ta‘nx] "oy &

_ [cotx - x”)%(ex - tanx) - ‘ex ??anx) d%(cotx - x")

(cotx - x”)z

[cotx - x”)(e” - sec? x) - (e” - tanx)(— cosec?x - nx”"]

(cotx - x”)2

2

X +NX

[cotx - x”)(e” - sec? x’ + {e’ - tanx) (cosec "")

[cotx -x”)2



Derivatives Ex 30.5 Q5

Using quotient rule, we have,
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Using quotient rule, we have,
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Using quotient rule, we have
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We have,
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Using quotient rule, we get
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